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Multiple Choice Monday #1
1) Students in a college statistics class collected data regarding pierced ears.  The data is given in the table.  Choose the sentence that is correct (percentages to the nearest tenth).

	
	
	Pierced Ears?

	
	
	Yes
	No

	Gender
	Male
	19
	71

	
	Female
	84
	4


a. The percent of students with pierced ears is 47.2%.

b. The percent of males without pierced ears is 21.1%.

c. The percent of those with pierced ears who are male is 18.4%.

d. The percent of students who are female is 81.6%.

e. The percent of female students who do not have pierced ears 78.8%.

2) Which of the following is NOT a categorical variable?

a. Zip Code

b. Time in the 50 meter dash

c. Grade Level
d. Favorite animal
e. Method of transportation to school
3) In a survey of 300 working adults who earn less than $18,000 per year, investigators asked about job satisfaction (four options) and income.  The responses regarding satisfaction are summarized in the following table:

Job Satisfaction of <$18,000 annual income

	Very

Dissatisfied
	Little

Dissatisfied
	Moderately

Satisfied
	Very

Satisfied

	20%
	25%
	
	5%



How many adults in the survey expressed satisfaction with their job?

a. 50

b. 55

c. 150

d. 165

e. Cannot be determined from the given information.
4) Which of the following pairs is most likely to be independent?

a. Father’s religious preference and Son’s religious preference
b. Studying for a test and Passing the test
c. Country of Birth and First language
d. Type of  weather and Day of the week
e. Type of vehicle and Gas mileage (mpg)

5) TRUE or FALSE: So far, I enjoy AP Statistics.
Free Response #1

DUE:  Friday, 28 August 2015
A delinquency offense is an act committed by a juvenile for which an adult could be prosecuted in a criminal court.  The following data represent the number of various types of delinquencies by gender in a random sample of 750 delinquencies.

Delinquency

	
	Person
	Property
	Drugs
	Public Order

	Female
	24
	85
	7
	28

	Male
	97
	367
	39
	103


(a) What percent of female delinquents were cited for drugs?

(b) What percent of property delinquency cases were attributed to males?

(c) What is the marginal distribution of type of delinquency?

(d) Give the conditional distributions of type of delinquency by gender.

(e) Create a graphical display comparing the delinquency of males and females.

(f) Do you think gender is independent of type of delinquency?  Why or why not?  Give statistical evidence to support your conclusion.
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Multiple Choice Monday #3


(actually:  True/False Tuesday!)

6) You can determine from a histogram whether a distribution is skewed.

7) A skewed right distribution and a skewed left distribution cannot be compared using a back-to-back stemplot.

8) Histograms are useful for displaying categorical data.

9) In a histogram, the bars should touch each other.

10) A histogram for a given set of data may be symmetric or skewed depending on the selection of class width and boundaries.

11) Stemplots are suitable for showing outliers.

12) Classifying a variable as quantitative or qualitative is an example of quantitative data.

13) The distribution of family incomes in the United States would most likely be symmetrical.

14) In the histogram below, the mean is probably smaller than the median.


[image: image1]
15) Environmental researchers have collected rain acidity data for several decades.  They want to see if there is any evidence that government regulations which attempt to reduce industrial pollution have produced a trend toward less acidic rainfall.  They should display their data in a contingency (2-way) table.
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Free Response #3

DUE:  Friday, 11 September 2015

This paper is due on Friday, 11 September 6 2015.  It will count 10 points in the test section of your grade.  If you are in the building at any time on Friday, you will need to submit your paper, otherwise it will be considered late and will receive, at most, 1/2 credit.  

Give your answers in complete sentences and in the context of the problem.  Write clearly and neatly.  Grading will be based on your writing as well as your computations.  Show all your work.  

Free Response #3 (10 points)  

The Better Business Council of a large city has concluded that students in the city’s schools are not learning enough about economics to function in the modern world.  These findings were based on test results from a random sample of 20 twelfth-grade students who completed a 46-question multiple-choice test on basic economic concepts.  The data set below shows the number of questions that each of the 20 students in the sample answered correctly.

	12
	16
	18
	17
	18
	33
	41
	44
	38
	35

	19
	36
	19
	13
	43
	8
	16
	14
	10
	9


(g) Display these data in a stemplot.

(h) Use your stemplot from part (a) to describe the main features of this score distribution.

(i) Why would it be misleading to report only a measure of center for this score distribution?
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Multiple Choice Monday # 22

16) Two distributions D1 and D2 are displayed on the same graph. If the distribution D1 is right skewed, the distribution D2 is left skewed, and the mean of D1 is lower than the mean of D2, which of the following statements is not true?
a. The median of D1 is lower than the median of D2.

b. The mean of D1 is lower than the median of D2.
c. The mean of D2 is lower than the median of D1.
d. The median of D1 is lower than the mean of D2.
e. The mean of D2 is lower than the median of D2.

17) A box contains 3 yellow, 2 red, 4 green and 3 black marbles. Two marbles are taken one after the other at random from the box. What is the probability that both marbles are red?
a. 1/50
b. 1/60
c. 1/66
d. 1/24
e. 1/18

18) The mean number of points per game scored by basketball players during a high school championship is 9.4, and the standard deviation is 1.5. Assuming that the number of points are normally distributed, what number of points per game will place a player in the top 15% players taking part in the basketball championship?
a. 9.10 points per game
b. 10.57 points per game
c. 10.95 points per game
d. 12.35 points per game
e. 13.96 points per game

19) A researcher observes that, on average, the number of divorces in cities with major league baseball teams is larger than in cities without major league baseball teams. The most plausible explanation for this observed association is that
a. the presence of a major league baseball team causes the number of divorces to rise (perhaps husbands are spending too much time at the ballpark).
b. the high number of divorces is responsible for the presence of a major league baseball team (more single men means potentially more fans at the ballpark, making it attractive for an owner to relocate to such cities).
c. the association is due to common response (major league teams tend to be in large cities with more people and thus with a greater number of divorces).
d. the observed association is purely coincidental. It is implausible to believe the observed association could be anything other than accidental.

e.  the presence of a major league baseball team in a city will increase the mean income (some wives would expect that their husbands would have more money to spend on them).

20) Emily generates a sample of 20 random integers between 0 and 9 inclusive.  She counts the number of  4’s in the sample, divides by 20, and records her result.  She repeats this process 99 more times, recording the proportion of 4’s in each sample.  What kind of distribution has she simulated?

a. The sampling distribution of the sample proportion with n = 20 and p = 0.4

b. The sampling distribution of the sample proportion with n = 20 and p = 0.1

c. The sampling distribution of the sample proportion with n = 100 and p = 0.1

d. The binomial distribution with n = 20 and p = 0.1

e. The binomial distribution with n = 100 and p = 0.1
21) Which of the following divides a group of data into four subgroups?

a. Quartiles

b. Percentiles

c. Standard deviation

d. Median

e. Mean

22) We have computed the probability of an event to be 0.01.  Which of the following 

statements is correct?

a. The event is unlikely to occur.

b. We would expect the event to occur about 10 percent of the time.

c. The event cannot occur.

d. All of the above.

e. None of the above.

23) A study showed that persons who ate two carrots a day have significantly better eyesight than those who eat less than one carrot a week.  Which of the following statements are correct?

I. This study provides evidence that eating carrots contributes to better eyesight.

II. The general health consciousness of people who eat carrots could be a confounding variable.

III. This is an observational study and not an experiment.

a. I only
b. III only
c. I and II only
d. II and III only
e. I, II, and III

24) A least squares regression line was fitted to the weights (in pounds) versus age (in months) of a group of many young children.  The equation of the line is 
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 is the predicted weight and t is the age of the child.  A 20-month-old child in this group has an actual weight of 25 pounds.  Which of the following is the residual weight, in pounds, for this child?

a. -7.85

b. -4.60

c. 4.60

d. 5.00

e. 7.85

25) A national organization wanted to estimate the proportion of adults in the nation who could read at the eighth grade level or higher. The organization decided that it would be nice to have estimates for each state as well. To accomplish this, they took a random sample of adults within each state and combined the data to obtain a national estimate. What type of sampling plan is this? 

a. Simple random sampling

b. Cluster sampling

c. Stratified random sampling

d. Systematic random sampling

e. Voluntary response sampling, since only those who can read will respond.
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